—— A
N = 0] &F AF S & AN A
20148 = 20l A LBHSIH S H
A S HD
HE: 52 (LUBIYE /L)
el 2arael (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
S| Hl It 1,769,893 4,784,700 N 3,014,807
= 62,000
Al 1,707,893
SlH 2 (L2 DA /B A ) 71,800 71,550 250
2 A2t 2| 71,800 71,550 250
N AISZAE A 34,300 34,050 250
201 et d9d| 32,300 34,050 A 1,750
01 AF 2t 2| H| 32,300 34,050 A 1,750
OTLSIO U HAHHN R0l
20,0003 = 1808 3,600
OZ8AN & BEE5MHE RO 60,000 = 1808 10,800
OHMBYAN L UM HA ]9
100,000& = 10 1,000
O AH&&H Hal Kol 50,000 = 30= 1,500
O AHEE =4 30,0008 * 3= = 40& 3,600
OME) HBA S 428 2¢
300,000& = BEFA 1,800
OZ2MEAIRESE 100,000 = 5% x 20 10,000
301 et A= 2,000 0 2,000
11 J|EtE A= 2,000 0 2,000
OZAE AR E (bl 20,0008 * 5% x 20¢ 2,000
A8 37,500 37,500 0
201 et 9| 37,500 37,500 0
01 AF2 2t 2| bl 31,500 31,500 0
OSM2)| MA 2 221 &AM o
15,000 * 1508 * 2= 4,500
OMEEDA Q1M 40,000 = 1508 6,000
QENM2IHZCSHA E) 2HH| 21,000
—MREIN &4 IEE
16,000,000 = 14! 16,000
—MHEEIDA TE 249 5,000,000& = 1A 5,000
02 E2=2=2%H| 6,000 6,000 0
oA SHESAAE(DAIS) S A2
500,000& » 12€ 6,000
Hote| (Lt DN /B A) 606,637 774,820 A 168, 183
H ekztel 606,637 774,820 A 168, 183
HA=2E & =42 41,500 26,500 15,000
201 et d| 41,500 26,500 15,000
01 AFR 2t 2| Hl 28,700 13,700 15,000
Ogttf2y| 6,000




M 3

Haj: jorpiel (YHBIYH /YY)

el Hetarel (sl &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—JorEe AAl 5o
200,000& = 53 = 13l 1,000
—HALPEH KRO(SAHLES, EK)
300,000& = 38 = 13l 900
—HoEY WEE Y w =20
300,000& * 38 = 13l 900
—uEpY A4 S0
100,000& * 98 13l 900
—23 ¥ g2l Aa g
100,000& * 53 = 13l 500
—SEEXN 7Y 30,000& = 58 ~ 123 1,800
OAtuo9a 2dag 2,700
i R R =) 70,000& = 109¥ = 33 2,100
— AJA NI 20,000& = 10¥ = 33l 600
OA2ZEHNH Z208 2¢ 12,000
—=Z22ALE ATEN
1,200,000& = 10user 12,000
O=28 dAg1 g 8,000
—cte B 300& = 20,0000H 6,000
—SXE B 4003 = 5,0000H 2,000
02 8323l 12,800 12,800 0
OXetpe T2 SN+
900,000& = 24! 1,800
O2ZZ2(RFID)EHl 2B+
1,000,000& * 14 1,000
OdXYLE o822 20,000& = 500A 10,000
=32l 162,000 52,750 109,250
405 RHoHF S HI 162,000 52,750 109,250
01 XML EZH 162,000 52,750 109,250
OX XS At 110,000
- HO(Z2H=AI)
20,000,000 = 2CH 40,000
—E22J0/24, oL, sMEAY, A
M A st 5,000,000& * 4CH 20,000
—OlANDI, 2O, A, OEH, A
5,000,000& = 5CH 25,000
—a%s, oleds, AF1s, IS, HE2
= 5,000,000& = 5CH 25,000
OHICIRLEZAH 24,000
— 28202y, UHXNEFEY, dHAFY, ALY
e, 28, 5325 4,000,0008 * 6CH 24,000
OFAL A2 E &Il 7¢ 9,000
—HY(MRS) 300,000& = 10X 3,000
— QX (AIRE) 200,000& = 10X 2,000
—HEIL (AR E) 250,000& = 62X 1,500




S RECI ()
HH: Yoo (UUDTHY/LUHE)
chel: Herae (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— QA E OXH(ASI =X, MOISSAtD)
150,000& * 10x 1,500
—DEl@ (RS A ) 200,000& = 5% 1,000
ORHAAHOLHI(EE2CE)
4,000,000& = 1CH 4,000
OEHIcIHII(82=2l8)  3,000,0008 * 504 15,000
AreE2el 403,137 695,570 A 292,433
201 £Br2d| 277,697 281,920 AN4,223
02 =224l 277,697 281,920 N4, 223
OXsxt 2522 £ HA 100,707
— NS XHA 21,150
Hess 500,000& « 3CH 1,500
SESE 400,000& = 4CH 1,600
- AEEE8 200,000& « 5CH 1,000
-HEsE 100,000& * 12CH 1,200
=58 450,000 = 16CH 7,200
-HEsE 150,000& * 1CH 150
-SEsE 100,000& * 404 400
- AESE 100,000& * 404 400
-HEst= 100,000& * 104 100
-S8s2 100,000& * 504 500
- AEetE 100,000& * 35CH 3,500
Ex3= 150,000& * 240K 3,600
—dAtrr= 2,377
-HEss 20,0002 * 304 60
-SESE 20,000& * ACH 80
- AESE 20,0002 * 504 100
-BESE 15,000& * 12CH 180
=58 20,0003 ~ 16CH 320
-HEsE 25,0002 104 25
-S8s¢ 23,0002 * 404 92
- AESE 20,0002 * 404 80
-HEst= 25,000& ~ 104 25
Ef= ket 23,0002 * 504 115
EAR=ReIg = 20,0003 = 35CH 700
Ex3ats 25,0003 = 24CH 600
—EI3NERE=S 12,180
=288 100,000& = 160K 1,600
s 250,000& = 1CH 250
SEsE 200,000& = 4CH 800
- AESE 120,000& * 404 480
-HEst= 250,000& « 1CH 250




2N
X ZH -
L= B

el

=i ()

Mool (LS BIYH /LY T)

Hlefakel

= - — L=
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
sgst= 200,000& = 5CH 1,000
L83 E 120,000& * 3504 4,200
S22 150,000& = 2404 3,600
— 28X L ALIH B8 65,000
2SI 1140, A 4013 604, OIEXS
X+ 504 65,000,000 * 14l 65,000
OFJl dAr===2 350
— =4 50,000& = 20K 100
—-=J|g=% 50,000& =« 4CH 200
—2Z22d 50,000& * 104 50
OXt& & Byl 176,640
— ARl 176,640
- 1556559(5 &, NEEE, 3YR)
18,000,000& * 10K 18,000
- 69LE8296(5 8, RAEEE, 3LR)
13,000,000& * 10K 13,000
- 13015606(CISREE, NEYRE, 83R)
10,000,000& » 10K 10,000
- 26R2256(58, ERE, FLR)
4,000,000& = 1CH 4,000
- 32M2218(58, EEE. FILR)
4,000,000& = 1CH 4,000
- R2M2221(58, 828, FILR)
3,000,000& » 14 3,000
- 2M2226(58, EEE, FLR)
3,000,000& » 104 3,000
-20M9214(58, &8, FILR)
3,000,000& » 14 3,000
-20M9248(58, &8, FLR)
3,000,000& » 104 3,000
-20M9249(5 8, &8, FLR)
3,000,000& » 1K 3,000
-20M9242(58, 828, FLR)
2,640,000& * 1CH 2,640
-20M9243(58, &8, FILR)
3,000,000 = 1CH 3,000
- R2M2229(5 8, EEE, FLR)
3,000,000 = 1CH 3,000
- RM2237(5E, EEE, FLR)
3,000,000& » 14 3,000
- R2M2238(5E, EEE, HLR)
3,000,000& » 104 3,000
- 209467 (Ci=NEsE, 28, 8R)
3,000,000 = 1CH 3,000
- 16M5339(CH=REE, MEMEx, ER)
3,000,000 = 1CH 3,000
- 16M5300(CH=XEE, nEXEg, E8R)
3,000,000 = 1CH 3,000
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M 3

Haj: jorpiel (YHBIYH /YY)

Sl Horael (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Oxtg 2 120,000
—Od 7L 120,000
SASSAHAI(=MEZ 1)
90,000,000& * 1CH 90,000
USHSE(RSOHAE D)
30,000,000& * 1CH 30,000
Hate| (Lot S8 /LutalH) 978,178 3,823,464 A2,845,286
= 62,000
Al 916,178
A2 2] 948,143 3,798,464 22,850,321
= 62,000
Al 886,143
=& 2 658,880 489,931 168,949
201 Let249] 503,880 428,455 75,425
01 At 22l 25,794 22,394 3,400
Oget==EH| 19,794
—2HMU2AZE FIIHA 150,000& * 13/ 150
—EHM0H2AEZE THHZEA & SRS
120,000& * 123/ 1,440
— &l 2 (23 :1,095kw, 22
.9kv) 1,092,000& » 12& 13,104
— 2% FA A8AE F3LFH EY
1,500,000 = 14 1,500
— 23 FA 2YAE FNV2 L B B
=2 300,000& * 123l 3,600
OAMBEIN BRI Xz
1,200,000& * 53] 6,000
02 8323l 478,086 406,061 72,025
O3 & HA 425,179
—dIINEE(2E) 265,392
-JlE2es 8,050 = 950kw » 12& 91,770
ANER3(7~8€)
116& = 190,000kw * 2& 44,080
- MBR2Z2(3-68, 9-108)
79.3& = 140,000kw * 6 66,612
-ALER23(11~28)
108.5& = 145,000kw * 4& 62,930
— &4+ AEE(2EF) 12,822
ArE 22 (101~300m 0l ot)
1,030& = 300m * 12& 3,708
- AHER3(301m =1t)
2,170 = 350m = 123 9,114
—&2T AAEE(AE X1) 1,680
- AHE23(0~50m 0l3&t)
1,190& = 50m = 123 714




M 3

Ha: AR (LBBIYE /L)

& FArzel
SA - ZE-B(EA) - NRAY - B S il &t o il
- AHER23(51~300m = 1t)
1,610& = 50m = 123 966
—ol=E AEZ(2F) 7,170
A8 23 (0~50m 015t)
550& = 50m = 123 330
- ArER22(51~300m 0l dt)
880& = 250m = 123 2,640
- AHER3(300m =1t)
1,000& = 350m * 123 4,200
—ot=Z AE2(AMEXD) 660
AE23(0~50m 0]35t)
550@ = 50m * 2JH A * 128 660
— AADHAHABEH(2H)
150,000& * 13 150
—AYgotMEIIH(2E) 50,000& * 23] 100
— NEMHE S H =2l 136,205
AEANEESMHHERSH Y
86,295,000& * 13 86,295
- ol Ui & S H &l 49,909,840& 13l 49,910
— g Rdg32(28 2 2)
500,000& * 23l 1,000
OA & ZEHI®XHl| 29,752
—HAANE E= 5,000,000& = 13l 5,000
—EAEIANE X2l 2,450
-SUHe HIANE X2
550,000& = 23l 1,100
24T B8 HIME 7Y
450,000& = 33l 1,350
— A dHBEH KA+ 7,420
HHSI|HH RRE S
70,000& = 106CH 7,420
—JIEt AIE2 RA2el 7,500
=2 & AM&E2 S 1,000,000& * 53 5,000
2E ZE2 M2 72 500,000 * 53] 2,500
—d= =Xl 7,382
2y (2& 259 =1t)
3,362& * 6,174.54m" = 30% 6,228
-2 (g2 154 0lat)
1,897& = 608.14m 1,154
O&3E HaHl 4,675
-—=3 2,200,000& * 23] 4,400
—JIEtH 2 275,000& = 13l 275
O&FANLS 90& = 9,066m = 53| 4,080
o238 M= 34 450,000& * 23] 900
Odedl A=A 90CH * 150,000& 13,500
305 A 3 S 5,000 5,000




2N
X ZH -
L= B

el

=i ()
THatate| (LS SHE /At H)
FAt2el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 HIASS 5,000 5,000 0
Ozdlta2 (18 2) 5,000,000& = 1A 5,000
401 Al HI L E0HHI 150,000 56,476 93,524
01 Al&H| 148,920 56,476 92,444
OAMEA HOAAIE X & HEKFXNES SA 138,525
—Zojel sl &7
150,000,000 = 14! %= 92.35/100 138,525
OJle & AAIAAHY 10,395
—Zojel 52| &
150,000,000 = 14! = 6.93/100 10,395
03 Al 204 Y| 1,080 0 1,080
OAMEA HOAIE X & HE RAE2E=3A 1,080
—Zojel s2I| &7
150,000,000 = 14! = 0.72/100 1,080
A2 5,263 5,532 A\ 269
201 fBt24y| 5,263 5,532 A 269
01 AP 22| H| 4,800 4,800 0
028 ZtAl OIOIE 22l 400,000& = 12& 4,800
02 B32%H| 463 732 A 269
OAl& Z&HI KX Y| 463
— 22 2 AH(15E 0Olot) 0928 « 84.92m 79
— '3, sSeEX8&2AH25E 0lot)
1,6156€ * 90.96m 147
— AlYOIIHE (15¢ 016})
1,059 * 159.93m 170
— 22 0IIHE (20 016F) 1,253 = 52.71m 67
S8sS HAL2e 160,000 3,303,001 A3, 143,001
401 Al HI L £ 0HHI 160,000 3,303,001 A 3,143,001
01 Al& H| 160,000 3,244,543 A 3,084,543
Og=F=1s FOHH 0N & 2242 ZA 160,000
—Jl2 L A A& HY 160,000,0008 * 14l 160,000
SHSHANURESA (Z) 44,000 0 44,000
= 22,000
Al 22,000
401 AlEHIZL 2 0HY| 44,000 0 44,000
= 22,000
Al 22,000
01 Al& b 44,000 0 44,000
OZE2HAIREA B2 &N AH &X
44,000,0008 = 14l 44,000
= 22,000
Al 22,000
HAMUHXEXAS(Z2) 80,000 0 80,000




M 3

Ha: AR (LBBIYE /L)

el FALEE (ol @)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
= 20,000
Al 40,000
401 Al HI L £ 0HHI 80,000 0 80,000
= 40,000
Al 40,000
01 A& HI 80,000 0 80,000
O A LED Z2E I WHALS
200,000& = 400x 80,000
= 40,000
Al 40,000
=28 Mat2e 30,035 25,000 5,035
=28 Matzel 30,035 10,000 20,035
201 et A | 30,035 10,000 20,035
01 At 22l ] 30,035 10,000 20,035
ONSME S22 200,000& = 50 10,000
O=2sM4a HHEZ 20,035
— 93 546-12 8,700,000& * 13| 8,700
— 538 640-7 3,200,000& = 13 3,200
— &S 640-20 2,600,000 = 13 2,600
— S 3d S 640-21 2,200,000& = 13 2,200
— =59 Sl 314-6 190,000& * 13 190
—AF=s 21-5 390,000& * 13| 390
—EJ|S s8] 998-2 740,000 * 13 740
—ZJ|ls 4l 236-10 800,000& * 13| 800
—SIUE 450-20(2 & Al E)
1,200,000& * 13 1,200
— 9= 199-9 15,0008 * 13 15
HESHAM (2 HD)(OIEH/IIE}) 113,278 A 1,588
=l 113,278 A 1,588
&l 113,278 N 1,588
201 Bt A H| 23,878 N\ 668
01 AP 2t2l bl 23,878 A\ 668
OsAMEXN 7 13,000 * 218tA « 128 3,276
OSZ20Aldl 6,000& * 64 x 219 * 12& 9,072
Ogbteg 100,000& * 12& 1,200
OLAFAR S AFLH 50,000 * 12& 600
OAxrE2 =44 8,470
— Z2A 221 (AE) 500,000& * 1.50CH 750
— Z2lH %2 100,000 * 4CH = 50/100 200
— 2A0 EY 200,000& = 53| = 1.504 1,500
— T2 EH(E8) 200,000 * 53] x 404 4,000
— T2 EU(Zeat) 200,0008 * 53 = 104 1,000




M 3
HH: HH2FZHI (S HD)(IIEH/IIE)

@ Jl2gl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
—PC =2l 100,000 = 21CH * 20/100 420
— J|Et =#=2lH] 50,000& * 12& 600
OJIEF AFR 22l bl 5,000& * 219 = 12& 1,260
202 04| 84,000 84,920 N 920
01 2LH O HI 84,000 84,920 A 920
O3 H I bl 84,000
— 2L o4 8] 20,000 * 2199 = 122 * 12& 60,480
— 2204 Hl 80,000& » 219 = 14 23,520
203 & R =& 4,200 4,200 0
04 EANSHLRF=AH| 4,200 4,200 0
ORANBIELERFAH| 350,000& = 12& 4,200
204 &2 = F H| 1,200 1,200 0
01 M R-HAY| 1,200 1,200 0
OXNMBALLHIHI (S HUH)

100,000& * 18 = 123 1,200




